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1 ToX—T YA 2 | ANAE | R 2 7,600,000
2 =R ) —A 2 | MRIEN| #RIE 2 4,500,000
3 TN —< A A — 2 | FFR | IR 2 4,500,000
4 TATAT IV 2 | BERA| Wi 2 4,175,000
5 L —H— IS 2 2,915,000
6 AT o2 | ERFER | KO 2 2,750,000
7 J—)T—n 2 | EERE | MR 2 2,750,000
8 | Uxvru~FIv B2 [ /NS | R 2 2,750,000
9 AT o2 | TFWEE | K 2 2,640,000
10 oAY L% IS 2 2,500,000
11 SLATLAR— o2 | K| K 2 2,500,000
12 > 2 | JEREE | K 2 2,500,000
13 Yo —T—F 2 | | KIF 2 2,500,000
14 AT T N—F = 2 | EEE| Kt 2 2,500,000
15 I —XR7 )L—)L 2 | mEARE| K 2 2,500,000
16 ES P o2 | 8RR KIE 2 2,500,000
17 VRV AT 40 ¥ 2 W | IR 2 2,500,000
18 AA—b 71 2 | HEH | ik 2 2,500,000
19 B 2T IVAEA )L g2 | INEBE| IR 2 2,500,000
20 HUTARTAT 2 | BB | IR 2 2,450,000
21 YT AR = — o |JBRE| K 2 2,370,000
22 TATA— T 2 | ORRDE | R 2 2,100,000
23 Ay T 4T A EWIES IR 2 2,065,000
24 7 bhTIAF—X 2 | AMRIEN| #RE 2 2,000,000
25 BT 2 | JIEIE| G 2 2,000,000
26 TAT Y 2T TTA fe2 | ANV RN 2 2,000,000
27 TV)ar e o2 RIS | ORI 2 1,975,000
28 AT ARNT— B2 | ORI g 2 1,750,000
29 e ¥o2 | A EEE| KOt 2 1,500,000
30 aRFET YR — o2 | BT KOt 2 1,500,000
31 FI A I 2 | ARIEAN| G 2 1,200,000
32 ooy — o | EB=| Kt 2 1,055,000
33 YL /ehax 2 | HEFE | I 2 1,050,000
34 AT — M2 |IBHESE| KJE 2 875,000
35 T E—L oo | WEARE|] KIE 2 875,000
36 I A —T— o2 | RIE| KIF 2 820,000
37 TSR IV=T) I WIESEEIESE 2 375,000
38 AT T g2 | AN R 2 200,000
39 ARY—T LA /R— 2 | fEAKE] KIE 2 0
40 A —=F Y2 | SAeR | KO 2 0
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